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1	 Andy’s Car Guards (ACG) is situated in Rundu and its business activity dominates 
the market in Rundu.  David’s Guards (DG) is ACG’s biggest competitor.  ACG 
guards need reflector jackets and sun hats.
(a)   (i)	 Explain the concept business activity.

................................................................................................................
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................................................................................................................

................................................................................................................

................................................................................................................

................................................................................................................	 [3]

(ii)	 Why is business activity needed?

1..............................................................................................................

................................................................................................................
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2..............................................................................................................
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................................................................................................................	 [4]

(b)	 Explain what the term opportunity cost means to ACG.
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(c)	 Consider two possible reasons why the net assets of ACG would differ 	
from DG.
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(d)	 Evaluate how ACG can respond to the needs of the Rundu community.
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2	 Jangy Stores has a number of outlets throughout the country.  It employs 122 
workers, most of its employees are female and are employed on a part-time 	
basis.
(a)	 Suggest one advantage and one disadvantage to Jangy Stores of 

employing mainly part-time workers.

Advantage......................................................................................................

.......................................................................................................................
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.......................................................................................................................

Disadvantage.................................................................................................
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(b)	 Analyse three drawbacks of informal groups in a work place.
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(c)	 Employees elected a convenor and a shop steward in different branches.

Compare the role of the shop steward with that of the convenor.

Shop steward.................................................................................................

.......................................................................................................................

.......................................................................................................................

.......................................................................................................................

Convenor.......................................................................................................

.......................................................................................................................

.......................................................................................................................

....................................................................................................................... 	 [4]

(d)	 Identify which of Maslow’s needs the following help to satisfy.
(i)	 Money

................................................................................................................

................................................................................................................

(ii)	 Opportunity for career development

................................................................................................................

................................................................................................................

(iii)	Protection against poverty

................................................................................................................

................................................................................................................

(iv)	Contacts with colleagues

................................................................................................................
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3  (a)	 The Labour Act 15 of 2004 of Namibia, stated that employers must provide 
a safe and healthy environment for the employees.
(i)	 State two requirements that employers must comply with to maintain 

health and safety regulation at work.

1..............................................................................................................

................................................................................................................

2..............................................................................................................

................................................................................................................	 [2]

(ii)	 What is the responsibility of an employee with regard to health and 
safety regulation?

................................................................................................................

................................................................................................................

................................................................................................................

................................................................................................................

................................................................................................................

................................................................................................................	 [3]

(b)	 The government increases tariffs on a range of imported products.
(i)	 Explain why the demand for these imported goods may not decline.

................................................................................................................
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................................................................................................................
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(ii)	 Examine two other measures that government could impose to reduce 
imports.

1..............................................................................................................

................................................................................................................

................................................................................................................
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................................................................................................................
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(c)	 Governments are often keen to encourage local businesses to export goods 
to foreign countries.
(i)	 Suggest problems that might occur when a business starts to export its 

products.

................................................................................................................
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(ii)	 Outline the measures that the Namibian government can take to 
minimise the problems.

................................................................................................................

................................................................................................................
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4	 Jen-Lof (Pty) Ltd is a multinational company with headquarters in Windhoek.  
It has operations in Botswana, Lesotho and Zambia.   Jen-Lof specialises in 
handmade craft.

The following information from Jen-Lof (Pty) Ltd for 2018 and 2019 has been 
made available.

Country Revenue Revenue Net profit 
margin

Net profiit 
margin

2018 2019 2018 2019
Namibia $15 000 $200 000 10% 12%
Botswana $80 000 $70 000 12% 15%
Lesotho $60 000 $40 000 20% 18%
Zambia $90 000 $110 000 30% 24%

(a)   (i)	 Calculate the value of the net profit for the business operations in 
Namibia and Zambia for 2019.
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................................................................................................................
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................................................................................................................

................................................................................................................	 [4]

(ii)	 Comment on your results from the viewpoint of workers and senior 
managers.

................................................................................................................
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(b)	 Explain three possible reasons for differences in profitability between 
Namibia and Lesotho in 2018 - 2019.

1.....................................................................................................................
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....................................................................................................................... 	 [8]

(c)	 Draw a pie chart to represent revenue in 2019 for the four countries in which 
Jen-Lof (Pty) Ltd operates.
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